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Ahfl&ortvafwcs cm& lm{:(o.:( V&lba Pra‘/e.ms (IVP; )

T deot to solve cn IVP of the form

dy = £(x), y(0)=yo,
L A% o \ '
Ar“’e.reh'&na.l c,tto{loh (DE) lm.'l'laJ cowQu&om (IC)

o ths -
S elg i Ah‘hﬂc{)‘percwfnoic. (US: G lkkﬁi;\“'c.
mteqral) fo find the most cﬁai:gro-( soluton,
Lu1+ a 'l"C) to the DE,

Stepd. Use the IC fo soluz for C. Then ot
%l&s L\C hock nto the onsp=r fom 3’64—?1 '6£
unasin.

E xomples.

1) Solve the TVYP

A_\(. = x-sm(&x\, y(o)=3,
dx

SolU'('i 10N,
First we solve the DE:



P L
Weck. (3- Mordlay, 1t6

Y= g(X-sm(&xV&x =L& + w&\s(;lx) +C.
oL

/Vex'l:, P‘ﬁ the TC }I(O) 23 mio the okbove Y:

32 0%t cos(@0)+ C= | +c.
A o =y

Solve :
T 3= %
Flv;o.uj, Fu”} this € back mte the chove y:

= xMcos@x)tH.
ye alieos@qts. |

£ le .
Find) o Tunction F((L) sQ,"'LS n
| ) sl
F (ct\" 52 -d F(-1) = -,
1
Selution

First, wc sohe the DE*:

Flgy= SFg)dg - 5(5{‘%)41 = g-an(gl) .

Neu> Pl:i m the IC:



3

ek, 13- Mowec%?ll/w
2= FED = NQin ([-1]) ¢C
= = [=-Qm(1)+C
< = —[-d- O+ L= -1+tC.
= -] = -l

F"‘a'llf) Pu‘f ths pack wmt> F(Z) From cbove.
F(cl\ = CLS‘ alnuil)-l.




